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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2012 

ELECTIVE COURSE : ECONOMICS 

EEC-11 : FUNDAMENTALS OF 
ECONOMICS 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions from all sections as per 

instructions.  

SECTION - A 

Attempt any two questions from this section in 

about 500 words each : 	 2x20=40 

1. Explain the circular flows of income. Explain the 

roles of household, firm and government in the 

circular flows. 

2. Explain price discrimination in a market structure 

characterised by monopoly. Provide suitable 

examples. 

3. Explain the equilibrium in commodity and money 

markets with the help of IS and LM curves. 
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4. 	Explain with the help of indifference curves the 

equilibrium of a consumer in the event of a price 
decrease. 
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SECTION-B 

Answer any three questions from this section in 

about 250 words each. 	 3x10=30 

5. Explain how Euler's theorem holds good in 

perfectly competitive markets. 

6. What is meant by quantity theory of money ? 

What are its implications ? 

7. Explain the concept of Liquidity trap. What are 

its implications for policy formulation ? 

8. Explain the relationship between average cost and 

marginal cost. Use suitable diagram for your 

answer. 

9. Explain with the help of diagram the law of 

variable proportions. 
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SECTION-C 

Answer all the questions in this section as 
indicated. 	 2x15=30 

10. Explain any three of the following concepts: 
(a) Public goods 
(b) investment multiplier 
(c) income elasticiy of demand 
(d) double counting 
(e) Comparative advantage 

11. Distinguish between any three of the followings : 
(a) Speculative demand and precautionary 

demand for money 
(b) nominal GDP and real GDP 
(c) Fixed cost and variable cost 
(d) Indirect tax and direct tax 
(e) Stock variable and flow variable. 
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